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(2915 q2a GRS Te F9)

1. Answer the followmg questions as directed :
1x10=10

(@) The words used in an advertisement
referred to as

(ij data

(i) artwork

(iii) copy

(iv) text .
(Choose the correct answer)

Contd.



R@ome IR @R[ e B 3 o qme
i) @O
i) =N
(i) CORR |
(iv) T N .
(e Tewhr AR BiFedn)
(b) Advertising contributes to
(i) economic growth of society
(i) national capital
(iii) power of marketing firms
(iv) chaos in the already congested
marketplace
(Choose the correct answer)

Reio sl Q@

() T LA

(i) I o=

(iii) ISR WY & I

) 3 & o @R ¢ T

s
(3% Teweh! Az Tied)

(c) One of the most effective methods for

advertising a product is to compare it
with competitive offerings.

(Write True or False)
AN SRR TR Fors ool IR A
et «1afS tarm 95 Yoge wifte)
(9% @ S5 fa)
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(d) Products are purchased for the benefits,
it offers to the customers.
(Write True or False)

T T T I (YR 2 (FOR GAPR AL
FAI (3% @ 99% &)

(e) Write the full form of AIDA.
AIDA T 57 Foicol forat|

() Write the full form of TRP.
TRP I =5} Foitot forat|

(g) Advertising can be used to sell

(i) products
(i) services
(iii) ideas
(iv) All of the above
(Choose the correct answer)

F_WIA ¢
i
) &
(iii) 4_N
(iv) €AW
(T3 TeFeo! AR Tlered)
(h) The first American ad agency was set

up by
(i) Gutenberg

(i) Volney Palmer
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(iii) Kuleshov

(iv) E. S. Porter
(Choose the correct answer)

A HCRIR Re@oq 7 Qo IR
(i) sl

(i) TR AR
(iii) ICTHZS

(iv) % <. 2R B

(A Tewhr AR Tfaed)

" (i) Consumer jury technique is adopted
for

(i) print media
(i) direct mail
_(iii)) broadcast mail

(iv) All of the above
(Choose the correct answer)

(FoR oS *1wfe e 7 =
) = NGR 2|
(i) <PF (VR o[
(iii) Y (VR S|l
(iv) BT FBITH!
(7% Tewch! AR Tlersd)

4 (Sem-5/CBCS) COM HE 3 (ADVT)/G 4



() Advertising means
(i) market
(i) television
(iij) services
(iv) publicity
(Choose the correct answer)
Reaiom M
(i) @]
(i) T
(ii)) R
(iv) Yo" ‘
(A% Tewehr IR Bfersan)

2. Briefly answer the following : 2x5=10

weTe AP H0e Ted ol ¢

(a) What is advertising ?
featom Wt &2

(b) What is media selection ?
g Fea T 72

() What is emotional advertising ?

RS [REen e &2

(d) What is advertising theme ?
Realoe 1 Rew i &2
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(e) Give a brief note on full-service
advertising agency.

|F-CRI Restsi g R s for

3. Write short answers to any four of the
following : 5x4=20

SR R 5ifdb19 5 Te o ¢

(a) Discuss the qualities of a good
advertisement copy.

¥F Yeu [Reom (GroR R S <11

(b) Write a note on advertising on social
media.

AfErs Mg Reaioms esiwe @Bt (il Bt |
(c) Explain the objectives of advertising.
Rt TomiR esive i 311
(d) Write about advertisi;ng audit.
Reatom sifma sTsics v

(e) Discuss the recent trends in
advertising.

& R TIe o1 ST 5 |

() What are the advantages of online
marketing ? Discuss.

SR @R RARR & 2 S a1
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4, Write long answers to any four of the
following : 10x4=40

woiR Rzl 5ifabI Izis Tes fordl ¢

(a) What are different types of advertising
agencies and how do they differ from

one another ?

R gorT Retem 7R & om @ Reem
IR AGR F97e 0! & @ 9T e

(b) As advertising manager of a firm selling
cars, give reasons for your demand of
twenty per cent increase in advertising
budget.

51 MG} R Tt ol Rl ARG 251!
offt Reersig Acas R =roied I IR A
et |

(c) What are the major types of advertising
media ? Explain their characteristics.

Rfon aore ReieRt IU WYTRR &2 WR
TR S 10

(d) Discuss the nature and importance of
advertising.

RioRe oS T WY ST FA |
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(e) How do the legal aspects influence in
advertising ? Explain.

izl aiferniz Reiene evive e gor R
IR ? IR ol

() Explain the growth of advertising
industry and write a short note on
future of advertising in India.

Reatom %tmm R [E o, saice
RIS Reivng Siiayed 7 e s ot |

(g9 Explain the functions of advertising
agency.

ol 757 aﬂrﬁaﬁﬁmw |

(h) What are the common advertising
appeals ? Discuss it.

Rt AR ST & 6 2 St 4|
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1. (A) Choose the correct answer of the
following : 1x10=10

(@) In which year was the Imperial Bank
of India established ?

i) 1920
) 1921
(iii) 1930
(iv) 1935
Contd.



(b) Which: one of the following is the first
universal bank in India ?

0] SBI'
(i) HDFC Bank
(iii) AXIS Bank
(iv) ICICI Bank
(c) Garnishee order is issued by
(i) customer of the bank
(ii) the banker
(iii) the court
(iv) None- of the above
(d) Overdraft is granted
(i) for short duration
(i} for medium duration
(iii) for long duration
(iv) All of the above
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fe) In case of negotiable instruments,
which person generally gets a good
title ?

(i) Holder of stolen instrument
(i) Finder of the lost instrument
(iii) Holder in due course

(iv) None of the above

() In which year was the Banking
Regulation Act passed ? -

6 1921
(i) 1934
(iii) 1935
(iv) 1949

(g) “A banker’s lien is particular lien.”
The statement is

(i) Correct

(i) Incorrect
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(h) “Advances of a bank represents its
assets.” The statement is
(i) Correct
(i) Incorrect

(i “A bill of exchange can be crossed.”
The statement is

(i) Correct
(i) Incorrect

() ‘“Banks can carry on trading activities.”
The statement is

(i Correct

(i) Incorrect

2. Answer the following questions : 2x5=10
(a) Write the full form of RTGS and NEFT.

() What are ‘banking’ and ‘banking

company’ as per the Banking
Regulation Act ?
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(h) “Advances of a bank represents its
assets.” The statement is
(i) Correct
(i) Incorrect

i) “A bill of exchange can be crossed.”
The statement is

(i) Correct
(ii) Incorrect

() ‘“Banks can carry on trading activities.”
The statement is

(i Correct

(ii) Incorrect

2. Answer the following questions : 2x5=10
(a) Write the full form of RTGS and NEFT.

(b)) What are ‘banking’ and ‘banking

company’ as per the Banking
Regulation Act ?
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(c) What is currect account ?
(d) What is cash credit ?

() What is endorsement ?

3. Answer any four questions of the following
in about 200 words each : 5x4=20

(a) Distinguish between public sector and
private sector banks.

(b) Briefly discuss the general relationship
between banker and customer.

(c) -What is pledge ? State the essentials of
a pledge.
(d) State the characteristics of negotiable
' instruments.

(e) Distinguish between cheque and bill of
exchange. ‘
() State the requirements as to minimum

paid-up capital and reserves for
banking companies incorporated in

India.

Contd.
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4. Answer the following questions in about
600 words each : 10x4=40

(a) Describe the functions of a bank.
Oor

Discuss the structure of commercial
banks in India.

(b) State the procedure of opening a bank
account in the name of a minor and a
partnership firm.

Or

Discuss the special features of banker-
_customer relationship.

(c) Explain with examples, various types
of crossing of cheques.

Or
Discuss the principles of sound lending.

(d) Discuss the powers of the Reserve Bank

of India under the Banking Regulation
Act, 1949,
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Or

Describe the provisions of the Banking
Regulation Act, 1949 in regard to

(i) licensing of banks, and

(ii) inspection of banking companies.
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